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(1) 50cm= mX5 (2) 80cm= m X 4
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(1) 50 10 &= 100 f&= 5 =

(2) 328 ® 10 f&= 100 fg= 15 =
(3) 6.30 10 5= 100 &= o =
(4) 0.072 0 10fg= 100 f&= 15 =
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(1) 10%71A. 12418.0.128@bb YK HX
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(3) 0.1£0.01%. 150/ Dd bt HR

(4) 0.30. 75 D 33
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(1) 7.06%x10= (2) 0.08%100= (3) 0.47%x1000=

(4) 9.2+-10= (5) 10.01+-100=
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(1) 5.1+0.12= (2) 1.4+10.08=
(3) 9.57+4.26= (4) 0.52+3.78=
(6) 7.3—1.15= (6) 51.2—-5.12=
(7) 4.5—-0.66= (8) 10.1—-5.05=
(9) 30.03—3.3= (10 11—-6.721=
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(1) 9200 M 75 = Joo0 — 92 1000 —
a1 _ L 1
(2) 30D 75 = 100 — 1000 —
a1 L 1T
(3) 0.8d 75 = 100 — 1000 —
a1 L 1T
(4) 17.50 79 = 100 — 1000 —
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